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Puhos motemaotiling model > "elwling” telit

5. Hinded (hinded) 1 sek / 5 sek 60 punkti
Juku on koolis teinud hulga kontrolltéid, mida hinnati 0...100 punktiga.

Juku vanaisa annab talle hinnete eest taskuraha. Vanaisa loeb tulemused iile 50 punkti headeks
hinneteks ja tulemused alla 50 punkti halbadeks hinneteks. Téapsemalt liidab ta hinnete 50 punkti
iiletavad osad Juku taskurahale ning lahutab 50 punkti alla jidvad osad sealt maha. Naiteks
hinnete 35, 42, 81 ja 100 eest saaks Juku kokku (35 — 50) + (42 — 50) + (81 — 50) + (100 — 50) =
—15 — 8 + 31 + 50 = 58 eurot. (Tépselt 50 punktiga hinnatud t66d seega taskuraha ei mojuta.)
(;)p(-tujn hoiab Juku hindeid N rea ja N veeruga Exceli tabelis. Kokku on Jukul seega N?
hinnet. Juku péaaseb tabelile korraks ligi ja tal on voimalus oma hindeid “parandada” sel viisil,
et ta margib tabelis iihe ristkiilikukujulise alamosa (mis voib olla ka tiihi, s.t. sisaldada null

elementi) ja kustutab sealt koik hinded.
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There are n robots on planet PTZZZ. Some of the robots are friends, and some of them are not.

Once a day some of the robots go to work and all the other robots go to a theme park and have
fun. At least one robot should go to work. An administrator-robot decides who should go to work
and who should have fun. The work is so important for robots that the first day when the
administrator-robot made his decision was named the First day of the World.

If it turns out that the group of robots that goes to work is the same as the group in any day
before, the administrator-robot will rust of sadness. Moreover, the law doesn't allow the
administrator-robot to form a working group in such a way that there will be a pair of robots in
this group that are not friends.

The administrator-robot doesn't want to rust, so since the first day he tries to form a different
working group. However, the administrator-robot will rust sooner or later. Your task is to
calculate the day number when this will happen.
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There are n cities in the kingdom of Zamkadye, situated on the Great Plain. Once upon a time, a
founder of the kingdom built n — 1 bidirectional roads. It is possible to get from any city to any
other city using these roads. The founder was very avaricious, so the total length of the roads is
minimal possible.

Karl the First, the king of Zamkadye, grew old and decided to start on a journey and visit all cities
of his kingdom. He began his trip at the city of Ponaekhovsk, where a royal palace was situated,
and acted in the following way:
« If Karl the First entered the city where he hadn't been before, he described his impressions
in his diary and remembered the city, from which he came into this one.
« If there was a road to the city where Karl the First hadn't been before, he took this road. In
the other case, Karl the First returned to the city, from which he came into this one for the
first time.

Soon after the journey Karl the First died and his diary went to his son, Karl the Second...

A few decades later Karl the Second grew old and decided to visit all cities of his kingdom in the
order they are described in the diary of his father. Karl the Second decided to use a zeppelin,
which doesn't care about the roads and can fly from any city to any other city directly. Karl the
Second was much lazier than his father, so he decided to visit each city exactly once and return to
Ponaekhovsk after that.

A wife of Karl the Second asked for your help. She wants to know when her husband returns, but
she doesn't know the order in which the cities are described in the diary. Calculate the minimal
possible distance Karl the Second will have to cover during his journey.
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Oa ontod o orvust Woosney massiv joo v b,
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) 2-5“ selles o&émd o0 -l -aoe Loccutedo. .
Leio molisionoaloe udimolile elementide  suenmee. <q¢lo

(cE 16200)

Es[megq, N+ b - I oy m&(fa; d So0oMe. méarx(ata
(\c«%u ‘EOJ’\OLN\Q,’-

See maocab e wiimase  b-l macgid,
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V3w (witches Po&u Locdt Vab'do. Uc“zi%u Q;hkosecéa

(Y Aa, selles o&éobd ovd  -l-co. Loccutedo. .
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(CF 163008)
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Alamilescaded

- IOI'{:U'\}P} vdistlustel oa nedd poJY'Su

Subtask  Points Additional Input Constraints
The length of the path from city X to city Y is greater than 2K
< 50, the road network is linear.
500, the road network is linear
1. (5 punkti) N
Sy < 3000, the road network is linear. 0 punkti) N
0 punkti) inimene kéib sinu ees koige rohkem

4. (15 punkti) Lisapi ud puuduvad.

No additional constraints.



Alamilescaded

- IOI‘{:U'\}P} vdistlustel oa nedd polgu

—  50% - 100% pualitidest tolevad Olesannetest,
tido |OOP i lohendo (va. wla tasemel)

TOT Q0%:

- Ulsly proaksmedalist {2 enamos hgbemedolbiste et
Lahendanud oktki Ulesanaet t&LsPonhtidele




Alamilescaded

- IOI‘{:U'\}P} vdistlustel oa nedd polgu

—  50% - 100% pualitidest tolevad Olesannetest,
tido |OOP i lohendo (va. wla tasemel)

TOT Q0%:

- Ulsly proaksmedalist {2 enamos hgbemedolbiste et
Lahendanud oktki Ulesanaet t&LsPonhtidele




Alamilescaded

- IOI‘{:U'\}P} vdistlustel oa nedd poic'&u

—  50% - 100% pualitidest tolevad Olesannetest,
mido lOOP el L()}ncht}

- See%a prOf tiseecido!
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Ohtlle situetsioon!

Poalke | Aloanmolesanae
1.1 1p Mings lollus
2. 62 | Tehbow

3tp Vogo: coslke




A\,am (bhesanc)@&

Ohtlle sdtuetsioon ,'

Poscke | Alamolesanne
1| Lp | Miag lollos
2.| 62p | Tehtow

3tp Vogo rashe

Motlea 2 Lais(ehendyst Va%a
1Sh lMPLQ«MQn{QQr{n_;‘

Ara & ‘£0Lm\




Alamilescaded

Ohtlle situvetsioon!

Poalke | Aloanmolesanae

1.1 1p Mings lollus

2| 6dp Tehbow X 1h
3tp Vogo: coslke % Yh

1+2 lohendomsel:  £.03 p/win  + madal cisk
1+2+3  lahendomisel:  QUI ploia +




Avatud Jcesjcic)@c(\)& Olesanded

- Kindlasti poovida’

— \dee vaoctust el saa teodo enne

kactse %e%emkst

= latuiksioon sc%eu sttow

Eane Uhtsad lollused, hiljem (abi mzeldod



Axtyd m xa mudus{;i(&‘ maoed cowdud blobeecctud.
Bloleea veel cuvte oii, & alles d‘d&ks puv.
Malsimeern  lehtede  onwv.

10 festy, esttes nende  lahendused. \%m tesb. st
mia (10, 10+ 1) pualki, L ‘o festi  hohte antud.

(o) 9013)

Seda‘ hov caslasti W saayutedou on, Sa enne
(403056 %&%QM‘\S‘E chdcx Q/( Soo .




Axtyd m xa mudus{;i(&‘ maoed cowdud blobeecctud.
Bloleea veel cuvte oii, & alles &d&ks puv.
Malsimeern  lehtede  onwv.

10 festy, esttes nende  lahendused. \%m tesb. st
mia (10, 10+ 1) pualki, L ‘o festi  hohte antud.

(o) 9013)

Seda‘ hov caslasti W saayutedou on, Sa enne
WJGSQ %&%QM‘\S‘E chdcx Q/( Soo .

Eve loawalate Ua%a motlemist P(oovi Lhtsod Lab.




Axtyd m xa mudus{;i(&‘ maoed cowdud blobeecctud.
Bloleea veel cuvte oii, & alles d‘d&ks puv.
Malsimeern  lehtede  onwv.

10 festy, esttes nende  lahendused. \%m tesb. st
mia (10, 10+ 1) pualki, L ‘o festi  hohte antud.

(o) 9013)

Alostame sovalisest cuuc)ust' teome BFS mis
o Wilasto oy, Wi telubs  4sdlde(:




Axtyd m xa ruudus{;i(&‘ maoed cowdud blobeecctud.
Bloleea veel cuvte oii, & alles 5&&% puv.

10 festi, esto nende  lahendused. \%m Lesti aust
mln(lo' 10 - I1/(;») Pun(ﬁﬁ. Vs x%a T ol ontud.

(loy 9013)

Taavet Kalda Estonia 87.44 30 0 20.00 13 100

7 Tahvend Uustalu Estonia 26.99 13 27 90.00 O 50

X See Ulespone




Axtyd m xa (‘()Ud&)stih_‘ maoed cowdud blobeecctud.
Bloleea veel cuvte oii, & alles d‘d&ks puv.
Malsimeern  lehtede  onwv.

10 Jcesb‘ esdton nend e Lcﬂqe,ndused. \%m testT ast
mia (10, 10+ 1) pualki, L ‘o festi  hohte antud.

(1oy 801%)

Personal view to output-only problem in IOl

By dotorya, history, 7 years ago, zafs

« Disclaimer : This article was originally written by zigui. I'm just translating original Korean article in English, but still, | totally agree with
this article.

(pll +elst)

Because of these reasons, | think that output-only tasks like "nowruz" don't fit in 10l at all. If they want to give these kind of tasks, include
heuristic algorithms in 10l syllabus, write every information about input tasks in description, and give some good input restrictions, which
can make problem "solvable". Solution itself also should be clear, can be solved by clear logical steps. If they can't do these, it's better
giving this problem to some other competitions. At least, it's not a science at all

+225 ya [ 7 years ago 33




Eesti informaatikaolimpiaad
Valikvoor 16.04.2022

Koht Nimi Kool
1 Marko Tsengov Tallinna Reaalkool
2 Kregor O6bik Tallinna Reaalkool
3 Oskar Martin Tallinna Reaalkool
4 Birgit Veldi Tallinna Reaalkool
5 Agnes Tennisberg Tartu Herbert Masingu Kool
6 Olivia Tennisberg Hugo Treffneri Gimnaasium
7 Ralf Robert Paabo Tartu Kivilinna Kool
8 llja Sobolev Narva Vanalinna Riigikool
9 Aleksander Karpov Tallinna Kesklinna Vene Giimnaasium
10 Hans Gustav Koljalg Hugo Treffneri Gimnaasium
11 Rasmus Valk Tallinna Reaalkool
12 Peeter Aleksander Randla Tallinna Reaalkool
13 Kevin Akkermann Hugo Treffneri Gimnaasium
14 Ants Karner Tallinna Reaalkool
15 Grete Paat Hugo Treffneri Gimnaasium
15 Jaan Artur Viirsalu Tartu Mart Reiniku Kool

0
0
0
0
0
0
0
0

15 Karl Joosep Onoper Tallinna Reaalkool

)
vokud destidego. Ulesonne vaib owortud
osutuda.  volstigsel Uhtsoimalis Jce,shde%&

Jo. seda Lo Pcoovimtx&a teodoe ol




Deb()%lm Lae

- Kui soag WA

KL(Avtm ’cd\/iwlne Bru‘\'&“&orce L&kendus

(hagver ©€27) heeruhuse%o)
- Genereent PQL'AU Voikeseid teste O ey
(mife s sour, voud buhanded VOI(LQS‘Gld)

= Jooksvta malemod plogeonm cendel testidel

Ni leiod testi, Wwos pogramm ol Loheb

_ . ¢ sama, OG0 kompileen
KUL RE _gs&n&té’e:addrgss.

- $sonikize = undefined




Deb()%lm Lae

5)pk/ lfsowéu Losutama debu%%ecct\.




PeoLm Lseé oL kuseé

- (Y\[)LQM cotecrinine

Teoocio

- N["\B{kemésoskusn

- Vaistlossteat eegm




\mPLme(\{:geclmlno,
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el Po,a(ts olema. sVLC osa foost

= Loodetowasti olamas, ot sio ABudsilca
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— Teadmiged QL%odjcm{dest\
andmestcolctuocidest doe, osluws aco. toada

- 699@8@3&000((‘), rcmma)&udl Eﬁo%id

— A%OL ka bkesamde Qo}nanéamlne‘-

Po&&u aimeta'  kocdouond ide’u’. mile ecaldt Bf,efom;se
Peole (waat en tule.
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- K3 i%e olwisem!

- 6‘36]00\5& eatl o sao lw(‘&\)n@é; sUs
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- asendust ho.(d'ufmnisde pole
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Va‘tsﬂus LLO%QM Ve,
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T Naiteks sin, odo sedo. vahe
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Koidas \4@(&){:@@0&

- Kq,e%i Jc@cdd; kolk \;&%m o tea
POL&)A N(O&dm?idn oo sisvisetk  Laest Woetud

NEVER STOP BUYING LOTTERY TICKETS,
NO MATTER WHAT ANYONE TELLS YOU.

|
T FAILED AGAIN AND AGAIN, BUT INEVER
GAVE UR TTOOK EXTRA JOBS AND
POURED THE MONEY INTO TICKETS.

|
AND HERE L AM, PROOF THAT IF YOU
PUT IN THE TME, IT PAYS OFF!

EVERY INSPIRATIONAL SPEECH BY SOMEONE.
SUCCESSFUL SHOULD HAVE TO START WITH
A DISCLAIMER ABOUT SURVIVORSHIP BIAS.



Koidas %af&ujcar)o&

- KQ,Q%L ch,cdd; kol \;&%m o teo

POL&)A ”(oou‘)r"\o.?idN oo sisvisetk  Laest Woetud

Goodhacti seadus

- "lohen & meosoe becomes a -tar%et &
ceases to be¢ o good measoure




Koidas \4@(&){:(%)0&

A%q taenaolsett:

- ~ 607 aA'ach achwvides (ahendamine

- ‘case vailis oUO\ Aoub.olncme a%a os(; au casb.e
et vaistluse CLAOL ei lahend

- “beema l,«wuu OK wvue ‘(TQQMC«%OL totvumisels,
nyid v P%o_m wifte




Koidas \’\O\f&UJCOkf)OL/L.

A%q toenaolisett:

™V 60 c/o OLAOLS'[? achwwvides (ahendamine

ﬁase vailis oU& gULLOlnane Q%OL s(: au casb.e
et vaistluse CLAOL ei lahend

“feema qua OK wvue %eema%cx totvumisels,
cnuidu P%OJV\ mifle

b gt Eb g, g nite

Q%ULL mustec:  Vataa b(@s&nde‘ teeslden 30
oot selle lehendamist  sis loen (ohendust




Koidas %af&ujcar)o&

A%q taenaolsett:

r 607, aA'ach achwvides (ahendamine

‘case vailis oUO\ oub.olnane a@a s{; au casb.e
et vaistluse CLAOL ei lahend

“teema L«wucx OK yue %eema%cx totvumisels,
cnuidu P%o_m onitle

lobendoste slaftisi vab luguos, g it

olwline ol eeline lehendoming L
tnplamenteectmiae.




Koidas %af&ujcar)o&
A%q taenaolsett:
- 207, - 307 aé'&as’c Lardutusv%isﬂused

- paljud Onun@-PLa‘tvom\id toetovad " victual
cortest”

“ lwi teete, uithe *osiselt!

- vahemaolt min%'\l. cnaocal, Pciocé’ciseecldo» 101 formocdy
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A%q taenaolsett:

- 10%-207 OLA%-(: Leooria BPPLanQ

- swcem P(otsmk siis; lwt feoociast vahe tepdmist

- deooriab et ol ‘te%d}wa: \;5%&. PQL(SU

- Laaksonen, A. NCOMPQ'k.“t;VQ, PCo%rqmmer)s HOnch?oo(&d + CSES
N

Temksbqr%. T., Gabeel, K" VSLstbSprocérManQ€tth
H?tPS"// USGLo. %Ui(‘)e,/ Ht{)s"//cf;- aL%ori‘Ehms, ccm/

lré[?(x [ codeforces. com/ ca‘l:aio%
GE,(J,LLS ::o(‘ (3 Q@{LS




